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SECOND REVISION EXAMINAm ;
MATHEMATICS :

dmdu&camctwhh”4 I :- '

.Time Allowed : 3.00 Hours]

: 1, Answer all the questions by
2. Wﬂtequudonnumber.eomdwm“‘l”mm 2 o
3. Each question carries 1 mark ' Y _‘Ww - a
1. Which of the following is/are correct?
(1) Adjoint of 2 symmetric matrix is also 2 symmetric matrix.
(if) Adjoint of a diagonal matrix is also a diagonal matrix.

(iii) If A s a square matrix of order n and A is a scalar, then adj(A4) = A*adj(A) .
(iv) A(adjA) = (adjA) A =IAlT

(1) Only (1) (2) (if) and (iii) (3) (iif) and (iv) (4) (1), (i) and (v)
s %t then |z| is equal to ;
(10 (2) i ()2 (4)3
l 3. The principal argument of T s
\ - § i if z¥
0= (2)-,— 0= PE M
| 4.The number of positive zeros of the polynomial 5o "G (=1 ) x*is , S
o @n @<n @)r + J 8
!S [fcot=" 2 and cot™* 3 are two angles of a triangle, then che third angle is i R :
B @7 ©F 3 241
] » %

6. Theellipse Ex: -+'—z—1 s inscribed i 2 sectangle R whosesides are parallel tothe coordinate axes. Another M

ellipse Ez passing through the pous (1, 4)clrcumscribes the ectangle R. The eccentricity of e elipses S
N\ 758

3 (3); l‘s‘- -tlw 3

0y
7.The circle passing through (1,-2) andtouchlngtheaxisofxgﬁaolmw&pom
(1) (-5.2) Do ;n A @62 @29
£ 35, "ﬁudispmndmmmxz)kmu
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(l); (2)2

ummbamy‘-hdbh-mh
)3 @3
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13. The degree of the differential equation y(x)= 1 +§+,—:—(2)’ +$@’4,_ is
)2 (2)3 3)1 (4)4
umnuu-m“m%y%g .
W)=k @)=k ()= we(l)=ty Py
15. Let X represent the difference between the number of heads and the number ¢* ails obtained when a coin s tossed
& times. Then the possible values of X are |
()s2mi=012.n  (2)2ini=012-n (3) 4= 012 @Mmi=0i2a
1612 + b= Y27+ b7 on the real numbers then + is .
| (2) commutative but not associative (2) associatts¢ bt not commutative TR
(3) both commutative and assoclative (4 neiti-~ commutative nor associative e
1.argzliesin
(1)x<8< x 2)050< = (3)0<0< 2n (#)-x<i<x
18, Sum of the squares of roots of the equatior 2x* - 8x*+ 6x* =3 =01s ‘
(1)10 (2) i (3)5 @n

:

19, Area of the region bound~. " the curve y = cosx 1= s, x = Oandx = wls

(1)0 )2 o ®;
20, Determine .qndu_uummz(g)-[u(ﬂ'f .,
4and?2 (Z)2and4  (3)2andt (4)1and
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 Btherotsofy® +pr+ gx r=Oare P, rove it 09 = T g
WIA-143k, 3424k, 14+ dharecoplaar fadthevaleof, o B
Z&Emlain why Lagrangesmeauvaluetheommisnotappl!cabletothefoﬂﬂwmgﬁmcﬂons Inthe mpeamm S

tH
=—=xel-2

26.Showthat 1(a) =2 ¥l
27. Determine the order and degree (if exists) of the following

28, Compute P(X = k]fortheblnonﬂaldmbuuom B(n, p) wheren = 9,p=- k=7

1o TR
‘1':"‘&‘} o

differental equations: dy + (xy = cosx)dx =0

29, Ifthe probabllity mass function { (x) of a random variable Xis

X 1 2 3 14
1
1 5 5 I
X) 3 4
; 12 12 |© 12 2

| find () its cumulative distribution function, hence find (i) P(X < 3) )and, (iii) PX 2 2)

30. Find the length of Latus rectum of the parabola y* = 4Ialx
PART - i

fon carvies $ marks 3, Question number 40is compulsory Zx3221

3L Amanis appointedn ajob mth amonthly salary of certain ameunt and a fixed amount of annual increment. If his

salary was 119,800 per month a the end o the first month after3 years of service and 23,400 per month at the end

of the first month after 9 years of sevice, find his starting salaryand his annual increment. (Use matrix inversion
method to solve the problem.)
32, Form the polynomial equation with integer coefficients with j- asaroot.

-1 (1-H
12 i the domainof 1) = s () o () o
34. Find the direction cosines of he normal to the plane and length ofthe perpendicular from the origin to the plane

. (31-4+12k) =5.
35 lfy 2ﬁx+cisatangenttomedrdex’+y’= 16, find the value of ¢,

:’.G.Expandtluepolynmmalf(x)-x2 - 3x+2 inpowers of x-1. -
| ﬁ"t"=' HM(W“)NS(’"I Ifthellmitexists
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I;L Ana.dthm A hdmmhs.-h \
% avestigate the valusof Jand  thesysteofnareqations 2+ 3y + 57 =9 Mtdy-52=8,

43y 432 . v (oo soaton ()i s i)t umber of ot~ (OR)
b) Soie u“(}i)m"(:%):f
La)Sobe (- x-Na-a+1)=16 O

A semi ellpcalarcvy over nevay s heighof Smand a4 of 2 The ckhas ikl
and a beight of 2.7m. Will the truck dlear the opening of the archyay;
42.2) Solve the equation 2* + 8 = 0, wherez€6C. (R

b Using vector method, prove that cos(a~ ) = cosacosf + 5ia 15inB. :
. .

gl Mﬂmthmdmequaﬁon ,andxim;!reqmﬁmo[thcphmmmﬁfn ..

| @.2,1),(1,+2,3) and paralle to the straight lne psecing through the points (2,1,-3) and f-1,5,8)(OR)
) Evaluate the following imits, i necr <ar ‘use ridpital R
45.2) For the function f(x) = 4x° 4 3¢ - g -

‘ Ilpuntsolmﬂcmon LYy,
D) Sowthat [l 4 7 - )= -y 2,
&a)Hliemofthe:c;w_bauwedbyyzunx,y=mtxandtheﬂnsxto,x=f.y=& (OR)

A\

T
o il

Ukilim‘_"o(cosx)é >
1 nd e nteras o monotoicy,ocaletrema inervals o cncaty

and'd !*ﬁz’-ﬂﬂl
_'_*‘“.... v i S 4 ;
ydensyfinctonofisgven by ) = e o x>0
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